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Fourth Semester B.E. Degree Examina;t;;opfﬂec.2019/Jan.2020
Additional Mathematics - II
Time: 3 hrs. . Max. Marks: 80

“each module.
4

1 a. Find the rank of the matrix by

L .
A=|2 3 5 1| byapplyingélem tations. (06 Marks)
1 3 45 .

(05 Marks)

50, will be treated as malpractice.

?system of equatlons by ﬁaus’s elimination method.

ﬂ@&& 3y +2z=20 (05 Marks)

(06 Marks)

(05 Marks)

imlnatlon method Jx 2x+y-z=3

(0S Marks)

‘ 2
=10 9—1 (05 Marks)

(05 Marks)
(06 Marks)

(05 Marks)

(05 Marks)

d_y +y=tan X (06 Marks)
dx’

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

(06 Marks)
(05 Marks)




t O<t<4
c. Express f(t)= 5

OR

6 a. Find the Laplace transform of i) t cosat (06 Marks)

E O<t<al/2

triCsh L) ={ where f(t + a fffﬁ%). Show that L{f(t)] = tan h(ﬁj

-E a/2<t<a % 4
“ (05 Marks)
I Osret % 7 ¢
A gt
c. Express f(t)=4t 1<t=s2 integms\of unit step function and hence find L{f(t)].
2 e ¢
t t>2 [ ’% )
) (05 Marks)
éé,\«“; #
¥ Module-4
o 4s -1
7 a. Find the inverse Lapl%ﬁé\f{xt%‘i&ﬁsform of i) i Sdd S : (06 Marks)
W) s2+36 s2+425
b. ce transform of log «/=— (05 Marks)

c. Solve by u{}sih% place transforms y" +@%ﬁ;yﬁ+ 4y =¢™, given that y(0) = 0, y'(0) = 0.

4 ¢ (05 Marks)
8§ a (06 Marks)
b. (05 Marks)
fi@h

¢. Using Laplace transforms solve the (diff : y"+2y" -y -2y =0 given
y(0) =y (0)=0andy"(0)=6. 4 “&” (05 Marks)

‘“et&‘f’ Q ¥ ;f§ 2 b
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9 a. State and.prdve Baye’s theorems, {X (06 Marks)

b. The maéli’g;es A, B and C prog
of a factory. The percenta; ¢ f'defective output of'these machines are respectively 2%, 3%
andﬁ{l%*’fﬁAn item is sel@gff %t random anﬁgy found defective. Find the probability that the

/item was produced by Machine “C”. - (05 Marks)

i’mgé respectively 6{;@( %%, 10% of the total number of items

c : ‘The probability that.a téam wins a matcﬁ?aw,) /5. If this team play 3 matches in a tournament,
*_what is the probabi '@?‘%hat i) win all the matches i) lose all the matches. (05 Marks)
- AL, OR
10 a. If A and B-aréany two events of'S,which are not mutually exclusive then
P(AU B) =P(A) + P(B) — P(ANB). (06 Marks)
b. If A and B are events wiiP(AUB) = 7/8, P(ANB) = 1/4, P(A)=5/8. Find P(A), P(B) and
P(AN B). Y & (05 Marks)

c. The probability that g;~pg;son A solves the problem is 1/3, that of B is 1/2 and that of C is
3/5. If the proble@é is simultaneously assigned to all of them what is the probability that the
problem is so 1Védﬂ0° (05 Marks)
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